[(RERRZE-FERBIEEDRER]

(BEREER) EARCES TR ] EP2CES R ]
NEE | 0EE | 2EE | 20FE | uEE | 55E | Lk
(RRERE)
HERRZ 76.0% 77.0% 78.0% 79.0% 80.0% 82.0% 90.0%
BEREEE 30.0% 35.0% 40.0% 45.0% 45.0% 32.0% 40.0%
(RIEE)
BERRZE
FE 204 215 226 EE 45 E 254
XHREH 12,443 A 9,374 A 9,221 A 9,104 A 8,999 A 8,674 A
RLEH 9,060 A 7,482 A 7,338 A 7,337 A IAVAPN 6,959 A\
ZPE 72.8% 79.8% 79.6% 80.6% 79.7% 80.2%
BERRES
ERE 204 215 226 EE 4EFE 25
A REH 1817A 1,490 A 1,442 A 1,458 A 1,321 1278 A
BTEH KPN 148 A 225 A 299 A 419N 507\
£ S 0.2% 9.9% 15.6% 20.5% 31.7% 39.7%




